28th October

Foundation Plus 5-a-day

Y

The price of a house in 2014 was
£180,000.

On average, each year the house
increased in value by 4%.

How much was the house worth in
20197
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What is the sum of the interior angles
for an octagon?

(/1-‘1) £ 180

<g-z)x (4o = 1080

e

What is the size of each interior angle
for a regular octagon?

G
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Shown is one angle from a regular
polygon.

| Mass, m kg | Frequency | fm Calculate an estimate of the mean.
| 0<m<20 1o

0cme50 | 7 | 315 Lg-#5t

S0ms60 | 8 | 440 &7

60 < m< 90 2 150

T
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How many sides does it have?
168° 360 113 = 30 sy
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